
 

acb a is strictly less than b

c d c is strictly greater than d

e E f e is less than or equal to f

g h g is greater than or equal to h

We found that adding or subtracting a constant

from both sides of inequality did not invalidate

the inequality
Multiplying or dividing each side by a positive
number did not invalidate the inequality

However multiplying or dividing an inequality by
a negative number caused the inequality to be
reversed

These observations suggest that inequalities
can be solved much like equations
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Representing Inequalities on the Number Line
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